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MATHCEMATICS By Pradeep Sir

Q. 1) Present ages of Rama is 80% Aryan
Present age Five years hence Aryan ages
become 120% of Rama. What is Rama's
present age ?

I Bt IAAH AT 14T BT Y BT 80 Ul

g1 5 a¥ 91g MdH Bt AT IAT P Y 120

yfa=rd 8 STt 81 THT B I ST | 2

(A) 25 years / a¥ (B) 22 years / a¥
C) 20 years / 94 (D) 30 years / 94
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x4+ L -3

Q.2)If x2 —3x+ 1 =0, then the value of

x1%2 4+ x% —123x7 — 1237 is :
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Q. 3) A librarian purchased 50 story-books for
his library. But he finds that he could get 14
M U 19Ty = Mxold Avg + A c chy x7vi4 DOOKs more by spending 76 more so per book
aver- age becomes 1 less. The average price
t6e - x> — |14 € 4 (in) of each book he bou ht was

UP ATSANTT U1 aﬁso
\Mx = \yo P! Plard @WEar g 3'3“?" ﬁ‘

IR Ed $IP dg 14 fHard
;%%mmfm? ugﬂams’t
Wl €, df SUP gRT Wiel T8

3 U 19 |
(A) 15

(B) 25

(C) 20
@10
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Q. 4) Find the ratio in which the y-axis divide
the line segment joining the points (5, -6) and
(-1, -4) also find the point of intersection.
fa=gait (5, -6) 3R (-1,-4) H SIS IR I@EUS
& y-34& fFw squra # fyurforg st 81 39
wfawde famg & Adwrie i wra ifomg)

(A) 5:1, (o, ‘T“) (B) 5:1, (‘3—3 o)

(C)2:3,(0,%) (D) 1:5, (0,
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AQJIC/G})OI: Asc yTy
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Q. 5) Find the angle in degree throught which

a pendulam swings if its length is 105 cm and

the tip describes arc of length 66 cm.

105 cm @18 T UP GIATAHTT GIadd &1 UH
R & g RR 9@ g &3 3 &l S g9a1 8
391 AU &3 § 31q Sifoe, safe s Aie

ERT 991U 71U 919 B! JHETE 66 cm &
(A) 30° (B) 60°

(C) 72°
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© S00%19 = §3-3q = 93
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Q. 6) & € aIfePT A, B, C, D, E 3R F ®: irg-firm
U § BT X P ASHI DI ST HI STl 2

S('.'(.'T(.(_).' { '

i
No.of boys | 36 | 26

If in section E, the ratio of the number of boys to
the number of girls is 3: 4, then the ratio of
number of boys in section E to the number of
girls in section C is:
uﬁaﬁeﬁ,agﬁa_ﬁ'maﬁﬁgﬁsmaﬂm
BT AU 3:4 8, a1 911 E A TSHI DI & MR aif
¢ # wsfeal &t "B & 9 BT =Furd J1d 1|
NWLPE!
(C) 23:18
(D) 23:14
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Q. 7) Distance between A and B is 600 km.
When they start moving towards each other
they meet in 12 hours. If A moved 5 hours
after B then they meet in 10 hours. Find their

speeds?
A 3R B & a9 91 g3t 600 fFft. 81 &9 @ g1

wgﬂ%aﬁaﬁ?aa%?.a}gﬁ%ﬁﬁaa?mﬁ
A, B & 9@ & 5 °¢ 91 I == B al gl
10 ¥ ¥ a1 31 &t a1 | 82

(A) (30, 40) km/h X \B) (20, 30) km/h

(C) (30, 20) km/ﬁ) (D) (35, 15) km/h
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1’3 D

AR+ D\> AD
AcC \ A D

\—

‘R8+ AC+8C 794D

Q. 8) Consider the following statements:

1) The perimeter of a triangle is greater than
the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC,
then AB + BC + CA > 2AD.

Which of the above statements is/are correct?

EUIRIREG asuﬁlwlaalwﬁﬁr%q

1. f5eft Brys &t uftwmg Suat afF afersret &
g A A a3t gidt gl

2. f5sdt Byw aBc #, s Bc W FIE fAg D 8.

dl AB + BC + CA > 2AD BidI 2|
(A) 1 only

(B) 2 only
T e

(D) Neither 1 nor 2
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@ Q. 9) Asha and Suman’'s mud forts have
/ 3 heights 9 cm and 16 cm. They are 24 cm apart.
| QY | € cro How far (in cm) are the fort tops from each

9cm

y other?

- 3T 3R GHA gRT 99¢ ¢ FAgt & el ot

41§ 9 cm 3R 16 cm 81 d TH-GHR & 24 cm
P gl W €1 37 Mul & & Bt gH (cm #)
RIGE ]

(A) 16 (B) 7

@ (D) 24
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| — 8 |
CRENT
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Q. 10) - Find out the least number, which,
when divided by 15, 24, 32 and 45 leaves the

remainders 8, 17, 25 and 38 respectively.

dg DIt A B B 1 & S a! 15, 24, 32
31X 45 | YT & W HAW: 8, 17, 25 3R 38 AW

NN

(&) 1440 x (B) 1450 »(y
. (D) 1500
&S 39 ~
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£- Y4 J Seal —— Q. 11) The length of three medians of a
3 Sn-ﬁ;)@m-mg (Sm""a .
riangle are 9 cm, 12 cm and 15 cm. The area

— (in sq. cm) of the triangle is.

N~ s BAyw @t 941 arferee 9 I+, 12 I ek
%% 182K - 34 15 9t § ot Bys &1 fawa g1 S
(A) 24

Cpnz MI1iMN4M3

| 2 _ AT+ 1§

N R <
) @ = X 18
3

©48 gy 12 =i
S hianfy O
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n
A s ;ls - Q. 14) In a simultaneous throw of three coins,
what is the probability of getting at least 2

tails

N, R, 9= Rigs! $ T 91Y IBTE R $H A $H a
N, M T . & UT M P! WPar 8

N | — _ /]

NS ¢ &/ @i

o

TJT,T (B)i




MATHCMATICS

By Pradeep Sir

SP
SP Cyp
5 & 4,03
3 8
N
—é—-xtoo

Q. 15) An article was sold at a certain price.
Had it been sold at 4/5 of that price, there
would have been a loss of 10%. At what profit

percentage was the article sold initially?

S avg &1 Uo i gea w a9 T afg 3@
39 e & 4/5 W 91 0@, d@t 10% B g1
ﬁ?ﬁlmuﬁaﬁaﬁﬁmﬁmwﬁmww

->I-§s/ T AT 2

(A) 10.5

L)

RE
(D) 10
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@ Q. 16) In a school there were 1554 students

and the ratio of the number of the boys and
Cn girls was 4:3. After few days, 30 girls joined
the school but few boys left as a result the
3 5 66¢ ratio of the boys and girls became 7:6. The
number of bogs who left the school is.

_p gﬁﬁmmﬁ . 1554~ﬁmzﬁv)aﬁvasaﬁ$
H&AT HT AU 4:3 AT
q1g 30 ﬁwﬁzrmﬁmg?ﬁrm,
: PO mﬁﬁamﬁsﬁm,uﬂwgm
asHl asfedl &1 Iquid 7:6 § AT
T 66 faeTay BYe O ae®) @ 9B fhadt € 2
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ST= PxRARXT .
100 Q. 17) A sum of money becomes 79/16 times
R - [DOKST of itself in 35 years at r% of SIl. What is the
— PXx1 J value of r?
p- loorsy BIg YFRTIRT r% HTUROT TS HI G2 UX 35 I61 |
Sy, ¥qd BT 79/16 T[T &) W11 &, &) BT | T AT
T = |oorsr ” ‘ ‘
~ PxR : v A St \ T ) R
(A) 10.5% |6 4 . =7
9 €3 | 3%y |
5 |
R 9 AB) 11.25% )
HOR TR ¢ (\.___/
R= - 5 8 (C) 10.8%
+Hx 55, 4
a & ,(D)125%
5 ! as/
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Q. 19) Find the range coefficient for the

fallowing observation.

Frafafaa deon 1w Tuie J1a S

(A) 0.8 (B) 0.9
©06 ((D)0.7)
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(cre)®s @+ 3an(aqt) 443

Q. 20) If sec® @ = tan* 0 + 3tan” Bsec’ 6 + 1, then

find the value of \/x%2 — yZ is :

(' +'t0n\z®)3: qﬁsec(’o:tanx9+3tanyﬂsecy9+1%,a}
fante + 3 tonte Sedn + JZ =y e a fPad v g 2
(A) 22
— (@aD)  Sedor(1htato)
J:Q (C) 6 Secb@= (14 falo)
l G (D) 4

J 3=y = \Y_%:h
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[ AtS A +cC
3
A : ¢
-A — 10D +50 400
B2r,. S
CQ—C - |85
Lem: 24
,
3x6+3*°‘+1"‘3=4w 54:\8 e (X
=2 0? =
_ 3x=z
%Z 8= 200
Ot

9 4s

Q. 21) A alone can complete a task in 10 days.
A and B worked together for 3 days, after
which C replaced B. A was 50% more efficient

\than C. After A and C had worked together for
3 days. 13% of the task was incom- plete. In
approximately how many days can B (working
alone) complete the entire task?

Amﬁrﬁmaﬁmﬁ‘—ﬁﬁ &Y JHdl
SIATIBA3 f%m%i
9 B &I C A fa?thcﬂsoee
TS HASH UYTI ATG C & 3 BT I
q1¢ 13% DIH 30l YT B aHT fha
ﬁagmmawm%v

A) 4 (B) 64

(C) 12 (D) 20




